HeTE 8% / 2021048178 FafE / B1IRITER/N - fFERE (RT7HEAR)

RC18,12m & ¥

JEf.  IZNE K4 g 18m 12m &5t 10 X fm®
1 | 1|Blhmonry |sear-7-v-m2| 313 329 642 20 7
2 | 1| Cl8Ak PE |[trs7-7=v-2| 280 310 590 14 3
3 1| A|MEERE sram7r—Fz)—Ha| 254 322 576 9 3

RC18,12m 55

-7 1| D|ES mE |sremr-r=v-ma| 224 274 | 498 5 1

RC18,18m ¥ F

&z 3ZNE K% & 18m® 18m@ /A 10 X %
1 | 2 |A|pK BR |WEbI-=heKk| 276 267 543 9 2

2 | 3|AME RAE|mEDI-ShRR| 244 229 473 3 2

3 | 2 |B|RkE WE|mEHI-_=F58R( 239 217 456 5 2

4 | 2 |C|RE —0 [|[wEdz—=hEE]| 179 226 405 3 0
RC18,18m /N %F

NEfsz SZNE K#

1 3| C A &F
RC18,18m #=%5%

mEmT7—FzU—%a| 207 257 464 5 1

B 3ZNE K% FRiE 18m@® 18m®@ &5t X
1| 4|A|&FE ACEIZE 307 303 610 10 2 |AFrmmees
2 | 3 |D|AKEA ACEHIZE 289 274 563 8 3 |ermassn
3 4 | B|mtE B |MEBIZ=hE| 246 254 500 8 2
4 7 |A|KE Bt |MmEmiI-msss| 241 235 476 4 2
5 6 | B|®EI R BRI ZEHRER| 242 223 465 6 0
6 5 DLt =23 |mEmxz—=si| 213 239 452 4 1
7 5 | A|BEH & mEmI_gdFER| 219 205 424 3 2
8 6 |C|EE k& |mBhir-—z+sm| 208 209 417 3 0
9 4 | ClLE =A [mEhr-gsh2i| 224 190 414 4 2
10 6 [A|EE = MEmII—EdFER| 192 175 367 4 2
11 | 5 | CPER M} |MEmiI—=hen 105 177 282 1 0
RC18,18m /hNFEF
B 3ZNE K# FhiE 18m@® 18m®@ A%t 10 X m®
1 7 | D|/EH &% mRHmr—FzU—@a| 201 240 441 5 2
2 7 | C|#eHEEED mRHmT—FzV—a| 202 169 371 3 0
RC30,18m =z F
B 3ZNE K# FRiE 30m 18m &t 10 X m®
1 | 8 |A|AR ¥ |[reesravr-rzv-w2| 296 346 642 25 10
2 8 | B [{fEHEE ACESZE 291 322 613 16 4 PEHFER
3 8 | C|HERESE ACHTH 269 326 595 12 T |PPFFEHEFR
RC30,18m =5
B 3ZIE K% il 30m 18m a5t 10 X =3
1 9 | C WA ZEE MmEMIIBEKFPFR]| 322 354 676 41 15
2 9 | A s KREEM ACHTH 282 313 595 18 3 |[HEHAER




HEERCER / 20214F04 A17H FifE / BIEITRR /) - AFERS (RTBEOR)
RC30,30m sh¥# 4 F

NEGL  SZNE K% i 30m® 30m@ H/F 10 X im%
1 [11]AR WwWED AL = HPR | 288 280 568 10 4
2 10| Cl®l Z=E [WEhi-—=dzr| 289 260 549 9 3
3 [12| B |[A&t BH I =R 259 251 510 6 2
4 | 10| A [fIER EZE |l =shr| 225 282 507 7 2
5 |10 BfR bbb ABTHIL =R 242 262 504 7 2
6 |11|D|BlF EXK |mEHIZ=HPR| 220 237 457 3 0
7 (12| A|&E & |mEhiI-=d2K| 204 178 382 1 0
8 | 11| C[H+H = fafEmiI =P 185 151 336 0 0
RC30,30m %5
NEfsz 3ZNE K% Fiil& 30m® 30m@ AE 10 iw%

R K |#efeT ®ml 183 155 338

S5
|l

S5
|l

LA ik |#tET Bl 172 165 337

1 N fints ®m| 148 122 270

=
ll:k
|

X

1 (15| DO R# |mEdhiiz=des| 319 310 629 18 7
2 | 13| A B MK |Ehi—=di| 301 278 579 12 5
3|17 A (LIS B8  |METhiis=dhi| 268 286 554 9 0
4 17| ClE4KR = |mlEhii—gshr| 277 276 553 11 1
5 |16 | C|ER KZH |mesmiz—=hm| 268 283 551 5 3
6 |18| B[R AIE fafEmiII =R 273 275 548 10 5
7 |12 CPIUE B8 |MEhii=dhi| 263 271 534 4 1
8 | 13| DE MK faEmII = =m PR 252 277 529 5 3
9 |16 A [ TR |mETIITEsh| 245 268 513 4 0
10 | 13| C|izm BEKX |#fEmiz—=Zhm| 258 242 500 3 1
11 | 14| B |[aR  FAABE [MEhii—=sdte| 244 255 499 6 3
12 |16 | B[okE BEiE |#ehmiz—=h2mi| 248 249 497 4 1
13 | 15| A [#iB| Hese  |mfemhai==shatse| 235 245 480 3 2
14 |14 A|HHE RS |[Wehiz=hek| 255 200 455 1 0
15 | 18| A Bz ¥— |memii==shr| 235 209 444 7 1
16 | 15| C[/\& WA |#fEhii—=hi| 222 210 432 3 2
17 | 17| D [JN%F BERor  |#efemsz—=sm| 171 228 399 2 0
18 | 14| C|—/# HRE [mehiiz=dhei| 219 175 394 4 0
C EHhF 1 0

A =hE 1 0

D EHhF 2 0

C =hE 2 1

e KA

=
]
=
<t
||

Bl 219 254 254

total DFEEE I X




